Construction division. Advice for giving credit to contractors/suppliers.

SI. No. – site bills	17	•		- site bi	lls	30-	10-21
register Company Name:	17	110	Regis Site:	ter		19	Th.
Name of Contractor	MKK	·LLP				/ \	
Nature of work	丁	Kurma					
		Forth	wax	<u>k</u>			
Work done	From Date	20	1-09-	2/	Date		Contractors
Sl. Villa/Flat/block no	O. Qty.	Rate	:	Units	Amou	ınt	bill no
	1101	3 00	2/	Cf+	107	667/-	Om ne
1. Exavation	u 1196	5 0	1/	C++	104	BO 7 [-	
3. Material shift	Hing 500	p p2	1_	541	101	nm /-	-
4.	TINJ JUL	02	-/-	397	7070		
5.							
6.			1 0	=		t 1	-
7.					9.1	4- 11 11	No.
8.					T A.		3110
9.					1 1		1
10.							11.5
	otal:		_	_		6671-	
Bill required	WYES LI	NO.	GST	bill requi	ired	⊔YES	⊔ NO.
Measurement &	O Require			wrement		-Enclos	
estimate sheet: PO/WO no.	⊔ Not requ	uired		ate sheet VO date:	:	⊔ Not er	nclosed
			10/1	v G date.		_	
Remarks: WOX	K Co	1919m	ed				(7)
_		<u> </u>	114				
		- Wille	15			J.	
			45			ar i H	ı
		112 2.12					
Approved by Project Ma	anager	Approved b	y Desi	gn Team	App	proved by	M.D.
Date: 30-10-2	-1 1	Date:		8	Dat	te:	_== n;=
Sign:		Sign:			Sig	n:	

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Bill for Labour Charges

T.Kurmanna
Addres: H.no 45, Bank colony, mallapur,
Hyderabad

Date:30.10.2021

In favor of:

Nilgiri Heights

Project / Site:

Nilgiri Heights

Location:

Pocharam

Type of Work:

Excavation work

Towards:

Allowance for Equipment Charges

S No.	Description	Amount
1.	Brief description of work done:Towards completion of Excavation work and material shifting work.	Rs.47066/-
».l	Total Amount =1,17,667/-	1 / The Control of th
	Work done from date 20.09.2021 to date: 28.10.2021	

Amount in words: Fourty seven thousand sixty six rupees only.

Sign:	
21511.	

Bill for Equipment Charges

T.Kurmanna Addres: H.no 45, Bank colony,mallapur, Hyderabad

Date:30.10.2021

In favor of:

Nilgiri Heights Nilgiri Heights

Project / Site: Location:

Pocharam

Type of Work:

Excavation work

Towards:

Allowance for Equipment Charges

S No.	Description	Amount
1.	Brief description of work done: Towards completion of Excavation work and material shifting work.	Rs.47066/-
	Total Amount =1,17,667/-	
	Work done from date 20.09.2021 to date: 28.10.2021	

Amount in words: Fourty seven thousand sixty six rupees only.

Sign:		
Sign:		

Bill for Consumble Charges

T.Kurmanna Addres: H.no 45, Bank colony,mallapur, Hyderabad

Date:30.10.2021

In favor of:

Nilgiri Heights

Project / Site: Location:

Nilgiri Heights Pocharam

Type of Work:

Excavation work

Towards:

Allowance for Equipment Charges

S No.	Description	Amount
1,	Brief description of work done: Towards completion of Excavation work and material shifting work.	Rs.23533/-
	Total Amount =1,17,667/-	KS.23333/-
	Work done from date 20.09.2021 to date: 28.10.2021	U =

Amount in words: Twenty three thousand five hundred and thirty three rupees only.

Sign:			
inm.			
יוועוני.			

	2										Ti.					1		S No.	Date:	Ticharca by.	Prenared Ru	Contractor:	Work Description:	Project:	Company Name:	MEASURE
	Material shifting									1						Excavation		Item Head			-		ption:		me:	MEASUREMENT SHEET
	Shabad stone shifting from c block to near labour quarters			Excavation for laying north side for compound wall CRS wallpurpo	Excvation at maingate for laying plinth beams	Excvation at north side of site for laying footings of external compound wall										Excavation at BlockA for laying plinth beam		Item Description	30.10.2021	DI III III III III III III III III III	Anil M	T.Kurumanna	Earthwork	Nilgiri Heights	MRPLLP	
1,1	2.0			550	25.0	3.0	65.0	101.0	77.0	89.0	99.0	90.0	92.0	45.0	55.0	58.0		Length					- /		1	
	2.0			2	1.0	3.0	1.5	1.5	1.5	1.5	1.5	1.5	1.5	1.5	1.5	1.5		Width				15. 1				
	1.0			2.5	1.5	3.0	2.0	2.0	2.0	2.0	2.0	2.0	2.0	2.0	2.0	2.0		Height				li li			Approved by: Vijay raj	
	1250.0			1	2.0	50.0	5.0		4.0	3.0	5.0		4.0	3.0	2.0	2.0		No's							d by: Vij	
4.00	5,000.0			2,750.0	75.0	1,350.0	975.0	606.0	924.0	801.0	1,485.0	810.0	1,104.0	405.0	330.0	348.0		Quantity					-		jay raj	
	Sft	0.0	.7	Cft	Cft	Cft	Cft	Cft	Cft	Cft	Cft	Cft		Cft	Cft			Units							-	
						27 15 H 17 17 17 18 18 18 18 18 18 18 18 18 18 18 18 18											1	Item Head Total					*			

1,17,667.0							
	Total amount						
	10,000.00	2.00	JIC	5000	Shabad stone shifting from c block to near tabout quarters	Material Shiring	,
			20	5000	Shalad some Life in fam a black to man lab	Matarial alifeina	د
			1.				
			1				
	24,750.00	9.00	Cft	2750	Excavation for laying north side for compound wall CRS wallpurpose		
	675.00	9.00	cft	75	Excvation at maingate for laying plinth beams		
	12,150.00	9.00	cft	1350	Excvation at north side of site for laying footings of external compound wall		
							,
	8,775.00	9.00	Cft	975			
	5,454.00	9.00	Cft	606			
	8,316.00	9.00	Cft	924			
	7,209.00	9.00	Cft	801			
4.	13,365.00	9.00	Cft	1485		C	
	7,290.00	9.00	Çft	810			
	9,936.00	9.00	Cft	1104		12 F.	
	3,645.00	9.00	Cft	405		-C.B.Z.	
ř	2,970.00	9.00	Cft	330			
	3,132.00	9.00	Cft	348	Excavation at BlockA for laying plinth beam	Excavation	-
Item Head Tot	Amount	Rate	Units	Quantity	Item Description	Item Head	S No.
					30.10.2021		Date:
					Amil.M	By:	Prepared By:
					T.Kurumanna	ЭТ.	Contractor:
					Earthwork	Work Description:	Work De
		,			Nilgiri Heights		Project:
		Approved by: Vijay raj	Approve		MRPILP	Name:	Company Name:
					-1-	ESTIMATE SHEET	ESTIM!

